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-1

Find: dadd 2a
lim (sin?(x) + cos?(x))=7
x=+h
| 1 |
| -1 |
| Does not exist ~ 32: 3 e ‘
[‘ 0 J
Simplify the expression. L yuaill Jals

2(—20)+3[%(—20)]+s[§(50)]+4(50)

Answer: adlay!

)
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3.
Points A(3, 4), B(4, 3), C(2,1) are leass 3 &3 = A(3, 4), B(4, 3), C(2,1) atalh
graphed below. sl L
What are the coordinates of 8 and C' i) Jsa BC ahad aay €' 5 B Chiilan) ala
after BC undergoes a dilation centered at € s Ll A
. — J e -
point A with scale factor of 2?
y
»
B
L
B
C
- > X
\J
™
B'(5,2)&C'(1, —2)
B'(5, 1) & C'(0, — 1) |
B'(5,00&C'(1, -2)
™
B'(5,2) & C'(3, 0)
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4.
Find the limit for the expression below. bl il Al aa
. %t —4
lirm 5
x=0c 24 x=4x
1
2
hS o~
& "y
_1
4
S, -~
L Y
1
e "
-2
3.
A polynomial function f(x) defineon [ a b | a b Ak sl e 45 . f(x) Al
If f(x) continuous on [ a b ] then [ a b ] et i fx) S 1Y
lim f(x) must be equal: fegn o s lim flx)
x =+ at i x=+at
f(b)
e, ey
5 "
b
i "
a
e, ey
rl "
fla)
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6
Simplify. Al ) By

( 12 )

[ 20 )

Let F' be a continuous function for all real x. X Audall sl Yl gl Aleae Al FY s
Simplify the expression shown below. Sl gl el T

1 a+h
lirm —f Flix)dx
h—=0 a
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8.
A small mobile tower that is 12 meters leans e e el e 12 g paa Wl 7 g
against a building and reaches a window that Y Jad 10 el e 32l Joass

Is 10 meters above the ground. What is the
measure of the angle, to the nearest degree,
that the tower forms with the ground?

S Aa o BY gl S e Y
C o= Y e g e

( s )
( o )
( 1 )
( ¢ )
Q.

The table below defines a function. Ledlls oty sbial (J gasl)
Input
Qutput

Select the number that can replace A and Jeaall Jha g A S dein g S gl caall sl

the table still defines as a function. Al

( " ) " )
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10.
Put in simplest form 3 ypea ol & aa
5
8i
o Y o Y
3i ~48i
\ 4 ] Z \
pN o pN )
I ~ I Y
291 =31
\ = o i \
1.
Identify the image of point (4, — 2) after a 3o o) s (4, —2) Akl 5 e soa
dilation of 3.
& ™
(7, 1)
p. o
- R
-3
3" 3
., y
g R
(1, =5)
, &
& ™
(12, —8)
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12.
Find f(x) if Sl 1) f(o) Al sl
f"(x)=3x+4and f(0)=F'(0)=0. 'O =3x+4, flo)=f0) =0
|/ 1 -\I
4 2
— x4+ 4x
\ a \
ot A
|/ -\u
‘ 3+ 2x ‘
" vy
Py ~
RV NP
2
p S
# ™
3In|x| +4
\ A
13.
If cos (x) >0, csc(x) <0, in which a2 ccos () >0, csc () <0 <13
quadrant does the terminal side of X gl el aliall 48 ady g3)
angle x lie? '
|/- -\u
| Quadrant Il S
q y
|/- . -\u
| Quadrant | ds¥h @l |
% y
|/- -\u
| Quadrant II| Sl s A
\ y

| Quadrant IV A e |
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14.

Which of the following augmented matrices Al Jiai Aol A Ball il ghiaiall e g

presents the system of equations below? Tolial ¥ aladl
2x-3y+zZ=-5
dx-y-22=-7
-x+2z=-1
2 -3 1 -5 | | 2 4 -1
4 -1 -2 -7 -3-10
-1 0 2 -1 1 -2 2
-5 -7 -1
2 4 -1-1 | | 2 -3 1
-3 -1 0 -7 4 -1-2
2 -2 2 -5 -1 0 2

19,

Tammy used a family budget estimator to

NS AR el ® 1 AL e s Al aadt
find out the cost of living for five cities.

(e et Bl
A i) AdIEIY)
Monthly cost
City A AED 3941 A dan
City B AED 4120 B 4
City C AED 4780 C 4
City D AED 3816 D A
City E AED 4095 E 4

Tammy works 160 hours each month at her
job.

What is the minimum hourly pay in City C in
AED/hour for Tammy to live there?

e JS Aol 160 Jeny dal
C 4tde ddclu J8l adall o) aall g2 L
Cas ! /s ;..'llll__'

Round your answer to the nearest fil. ol 0 it
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16.
What is the slope of the line tangent to the Sl g oliaf daiim gt Alilaall imiall e Jiele
graph of the equation below at x =17 © =1 =
1 1
=(6-x?)| =x?+ —]
y=I( ][ 5 p
r Y
| 2 |
h r
r Y
| 0 |
h r
r Y
| -3 |
h r
s Y
| -2 |
hs ey
17. _ _
How could the following equation be factored ¢ al) olasy Adull Alsladll Jlas o) (Se a8
to find the zeros?
0=x>-3x% - 4x
|/- -\u
|. O=x(x+1)x-4), x=0-14 |
|' 0=x%x-4), x=0,4 |
\ )
|/- -\u
|. O=x(x+1)(x+6), x=0 -1, -6 |

[ 0=3x(x+1)(x+4), x=0, -1, -4 ]
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18.
Multiply. i el
5 )
— ? =
6 )
19.
A training field is designed by joining a s 2l g lase oy i Alhie aveeat o
rectangle and two semicircles. sl Jey LS il g ik
The rectangle is 100m long and 75m duia Vel 1 el
wide. . 7omaa 23 100m o Jebiwddl Jsb
. L te - — e
(Use the value 3.14 for  and round e A dulal o= 3.14 r‘-_“"*‘“)
your answer to the nearest hundredths (doe e
place)
| |
| I
| I
[ 75 m
| I
| I
| ]
100 m
What is the length of a training track i Je el sl
_ _ meter e gl
running around the field? T
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20.
Find the limit. Al as g
X2 -2x%+3
lim ————
x=+ocdx?+5x -1
0
1
2
-3
1
4
29
A building has a height of 6.5 meters and a Jelaiis e 8 jue dlieliy g B5 delli ) e
base that is made up of a rectangle and two ol Anim ge ol 2218 il
triangles. The base of the building 15 shown
below.
10 m
b m
10m

What is the volume of the building to the 5 ; —
femla o o @Y el L
nearest cubic meter? C_Jm afa e o Y il aas
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22.
f(x)=3x2 + bx + 12 defines a function on

the real line and b is a real number. The
graph below shows part of the function.

What is a possible value of f{5)?

y

Y e 6 3 g slal el | s

 £(5) Aad 553 of Sae I e gl

e b Lua f(x)=3x% +bx + 12 o) 8 LA

y = f(x)

0 1
e ™, e Y
| 27 | | 67 |
A vy A A
e ~, e Y
| 15 | | 72 |
A vy A A

23
The radius of a sphere is increasing at a rate

of 6 cm/s. How fast is the volume increasing
when the diameter is 40 cm?

Juale 5 om/s Jama s 8yl caiat (Jgh ol 3

940 cm kil oS et aaall ol 3

| 9.6001 cmis

| 9 6001 cm?/s

| 3841 cmis

| 3841 cm?/s
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24,
What is the area under the graph of Al s ;g peanad) Liliall S, o L
y=flx)=x*cos(x?) and above the interval X sl y=Flx) = x2cos(x3) bl
[0, m]. [0, ] s mh e ahiall
L 5 |
5 sin(m<)
1
ESH'H:TTE:I
N
1 2
Ecoﬁ(n )
; : :
—cos(m?)
3 (
y,
25. .
Oil is leaking from a tanker at the rate shown — JS0 _alll oLl o sl (Jocadl 210 e oy o s
below in liters per hour where f is measured e by ds5 s del
in hours.
R(t)=2,000e ™02
How much oil leaks out of the tanker from G 3l JSHA ABE0N e sl 31 i 8
the time t= 0to t= 107 =10 1t=0 g
t A (] -
Round your answer to the nearest liter. A g Sla] e

.‘/. .\".
| 8,647 liters |
e A
Id ™
| 14,778 liters |
p A
'd ™
| 54 liters |
. )
'd Sy
|_ 865 liters |
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28.

Which sketch shows the inverse of the

equation given below?

y=a* a=>1

€.l skl L) Al B s

y
A
- X
1
¥
y
y
Z
- <« > X
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27.
The graph below contains the function, the first Letitiiiay Ay o slil stall Jital N
derivative and second derivative. AGN Lemitey I ﬂ\
a - r ,) . et .
Which graph is f'(x)? ef(x) o o i g
| Black 3 g ) |
.\. /'
."". .\.
| Blue EE5)L |
.\. /'
."". Y
| Red oY) |
J.,a_"h
\ /'
28.
The owner of a landscaping business wants dois e da gea SHoall Sl (Jae talin g

fo know how much time, on average, his
workers spend mowing one lawn. Which is
the most appropriate rate with which to
calculate an answer to his question?

® allges da) (il ot (JR2l a La 2ol

¢ .
| hours per lawn Zapa 81 el |
N )
¢ ",
| employee per lawn dins J9 il |
N )
s N
| lawns per employee il JS0 e |
N )
¢ Y
| lawns per day ap < gilaa |
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29,
Evaluate. rek el aa g
flx)=+2x+5
glx)=6x-3
g(f(10)) = [:]
30. .
A scatter plot showing the weight, w, in S O AR 23 gad olinf LAY JS5 s
grams, of each crystal after growing  hours el 55 ye a8k JSh ol alls (Weight) w
is shown below. TR cagan (Time) t
304

— L ]

3 1 °

= ®

& L o

K-

o

2 T . :

L L J
5+ s
i L I 1 . 1 1 | Ll | 1l6
Time (t)
What is the best model for the relationship ol g w o sl o A0kl 0 g Jemdl g2 e
between weight, w, and time, {?
{ w=4"+5 } { w=8(.75)" 1

(' w=5(2.1) 'w ( w=(1.4) +2 W
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3.
What does t equal if ae?=c,a>0,b>0,c>0 JE 13t gl e
ae’'=c,a>0,b>0,c>0?
- ™y - ~,
In[i] In[ij

ab a

. A Inb
h A

- ™ - ~,

ch C
BTN o)

a a
o A D

h A
32. Find - Ao 2a g
lim log(x) =7
¥—=0t

I it
| —o0 |
L ey
o ",
| + oo |
b A
o S
| 0 |
b A
o S
| 1 |
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33.

Let f(x) be the function shown below. Ll daua gall Allall f(x) oSl

2
xe =4
N | = 2
) = x=2 "~

0 if x=2
Which of the following statement(s) is/are Pdaiaia Al () jlall) 8 jlall o ﬁ
true?

525 s [im flx) 1
1_lirmn f(x) exists )
X2

X+ 2

S sa f(2) 2

o s Al e
2. f(2) exists =2 de dlaic f 3

3. fiscontinuous at x =2

| 2 only | | 1and 3 |

|f 1and? ) (

1 only |

34
Find. =l 2l
Write your answer in simplest form. By g T o didal s
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39.
If x=4, y=1 Evaluate. Aadaagic x =4 y=]us )y
2x —3xY
| 4 |
| -4 |
| 10 |
[’ 20 )
36,
Use the graph below to answer the question (S Jgadl e Aa A sl (RN aasmal
that follows.
y
A
B
(10, 10)
A
(<, 4)
X
5 >

A point C lies between point A and B. If the oAl Cils 1) By A okl g C 3gill 4585
ratio of the length of AC to the length of CE is sl g le e 301 2 CB Jsb N AC b

3:1. what is the x-coordinate of point C? e akall y ‘-‘__"i_;‘.')fj

Answer: :] Ayl
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37.

Figure A and Figure B have rotational
symmetry.

Figure A

Qi e Ll B K20 5 A (K0

Al g2

Figure B

What is the smallest angle of rotation
needed for Figure B to appear unmoved?

What is the smallest angle of rotation
needed for Figure A to appear unmoved?

38.

A car travels from point A to point B along a
100 km north road, then 60 km east, then
20 km south to arrive at its destination
point D.

What is the displacement of the car from
point A to point D?

Answer:

() km

S e ol g2 D)5 sl S o L

C_J- |

st ol e B JRA ek

ek S A Rl saal LS L

:]D ?J%L“Téidj;AM'l

Aila] B ddazll ) A Akl fe 3 o & e

A 08l sl B0km @2 e Jeed) slasis 100km
ALhl) s lgiea o Jost Aa il slad: 20km
.D

D adaaill A Aozl s el dal )] laie

Aslall
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39
Which of the following is equivalent to the Poliaf saall 8 3 a8 )1 Ao s S L Laa
value of the digit 3 in the number below?
792134
=N
\ s \
3
‘ 100 ‘
|'“ 3% 100 |
|'“ 3% 10 |
40 _ _
Find the following limit. el gl aa gl

Ji_r:ng[{x -3)? sin[ 2 ix ] + 4]

Thelimit=_ ] =4l



